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20108 &= =0l & L BEal A

AN A4t

¥ 1500 Ex3
= 510 =112Xx=S
g 511 302X SS EERL
SN-F-2-8-5 Off &k 4 S Off Ak Y Hlnsz
=S Al 26,263,656 25,228,607 1,035,049
A& h2te] 26,263,656 25,228,607 1,035,049
500 Ex= 26,263,656 25,228,607 1,035,049
510 =12X=S 22,179,376 20,531,739 1,647,637
511 =1EX=SS 22,179,376 20,531,739 1,647,637
511-01 =02 %x= 5,937,866 1,422,508 4,515,358
OMF 7 M EH & FHl 3,500
OMHis odst=2d 6,366
O==0l tAAIE &X 2,668
kel g ESll 1,130,000
OX= Aot EH 225,332
OdtE i 960,000
OXgoteagzdxry 3,500,000
Ostetitl E=He 110,000
511-02 29 - AL HSEEIHEXS 16,241,510 19,109,231 A2,867,721
Oszdesd gt 3,882,430
OXELte =& (4=) 105,000
OHALIE =E(A2) 840,000
SEOS SN (HEAYA) 2,189,180
SENS SEHL(Z2AHA) 1,219,400
OJIHetEHZ &2 2,413,500
O3 XNdel 3,506,000
Oolglol2s7Y e 120,000
OO0lel0l25E #et CCTVE X 100,000
OLZHN+ KNHESEH H 1,606,000
OfIgcz XA 260,000
520 Al,EHIEEZ=S 4,084,280 4,696,868 A612,588
521 Al - SHIEX=S 4,084,280 4,696,868 A612,588
521-01 Al - SHIEEXSS 4,084,280 4,696,868 A612,588
OMFI T tNEH & FH 1,050
OM-ttis odst=gd 3,183
S0 AL EX 800
OdteHd 640,000
OXgsteard =4 700,000
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A AL M2
M ALy
ool A X L A2 (e
= T o = = 1 I|_-|LI;=|_||:_ =
2N -3 - c2(3H) - NEME - HES Ol &F2H Ol AF o8 Hns
A A T2t o 45,936,971 47,778,277 A 1,841,306
= 5,937,866
z 16,241,510
=2 28,807
= 4,084,280
= 19,644,508
AEMH 42,769 50,599 A7,830
HAEHE X & gA22] 42,769 50,599 A7,830
22X el 17,280 25,570 A8,290
201 et AH| 10,800 13,090 A2,290
01 AF222|H] 10,800 13,090 A2,290
O=SMAat & 5l - T2 22 10,800
=252 180,000& * 40H 7,200
-S0|l£&=£2 90,0002 * 40A 3,600
202 044l 6,480 6,480 0
01 2o Y| 6,480 6,480 0
O=22KX 22 =& 6,480
ol 2 2te| 13,830 15,910 A2,080
201 et AH| 8,970 11,050 A2,080
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Ozx=¥92X A= 2,870
-S40t 50,0008 » 20H 1,000
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Oold 7 SHd? He EXE
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Ostd2AEE =& 4,860
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-0 45,2203 = 102 4,613
-2HANH| 3,000& * 102 306
BEXY HE ¥ 1,400 1,600 A200
201 et AH| 1,400 1,600 A200
01 AFR22|H] 400 600 2200
O EX s 340 50,0002 * 20 = 43 400
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SA: AL D
M Y WAHH SEBe

Sl THLHCHE e (e
_ _ _ Muo
SN B SRA(SIH) - MBAY - BAS 04l &k 24 e HlnE2
OMHHS orde= Zei| 12,733
= 6,366
= 3,183
2 3, 184
220l AFAIL &3 5,336 0 5,336
= 2,668
= 800
= 1,868
206 M= HI 5,336 0 5,336
= 2,668
= 800
2 1,868
01 T2 5,336 0 5,336
OS50l B4 GHFAIL P2 5,336
= 2,668
= 800
2 1,868
HaHCHR 2He 146,388 468,691 ~322,303
= 6,600
2 139,788
WaHoe 2o 20,950 37,770 ~16,820
201 Yer2g| 17,750 32,750 ~15,000
01 AtR2elt] 16,750 31,750 A15,000
OMETHHS B L AE A BA2Y
70,0008 * 5% * 53] 1,750
omHSE=E? Ul YXE 15,000
02 B22%Y| 1,000 1,000 0
SEEREET 1,000,0002! * 13] 1,000
202 01t 2,700 4,320 A1,620
01 2UoIHl 2,700 4,320 A1,620
Oltiey L= 2,700
203 Y= 500 700 A200
03 AIZZHRETY| 500 700 200
OMHAIR =7 500
WO Als - ZHl RX2e 94,433 103,821 £9,383
201 Yereg| 84,433 73,221 11,217
02 ZB2H| 84,433 72,116 12,322
OMH 0 - F2AIM 388 10,515
-SRUMK BEE
100,002 * 1H4 * 128 1,200
“HEARE 30,0008 * 844 * 122 2,880
~®MIINER 8,002 * M4 * 122 768
-OIEY FMB 37,4002 * 34 + 12 1,347




M ALzt
A THH - THoH = Sgf2tel

SRl THOHOHZ 2tel (&9 &)
S BB SR (B) - NEAY - BAS 0f & o Soe DB
-COMA AtE = 30,000& * 12JHA + 128 4,320
OME Ol - ZEAE RXNES 73,923
S FRAL
1,358,760,215& * 4.7/100 63,862
-Met2 A &2 57,150,000& = 5/100 2,858
A& 55,000,000& = 5/100 2,750
-MeEE CCTV 45,560, 166& = 5/100 2,279
-NHSSESEAAE 43,480,000 * 5/100 2,174
401 AIEHIZ R0 10,000 30,600 A 20,600
01 AlZHI 10,000 30,600 220,600
OMHENEZE LED W
10,000,000& * 174 10,000
NN & WHSEALAY X 15,050 11,150 3,900
206 M=l 15,050 11,150 3,900
01 M=Hl 15,050 11,150 3,900
O==2 Xt 15,050
-HIE 40,000& = 332 1,320
—0tCH (1,000kg) 11,0002 * 80OOH 8,800
—0tCH (40kg) 230& * 6,0000H 1,380
-orat 5,000& = 11074 550
-H e 3,000
o2& X2 2,750 2,750 0
302 OI=HMo2a=2 2,750 2,750 0
02 QIZICITHGHE & = 2,750 2,750 0
oulztelsa 24
5,000& = 502 = 1182 * 13 2,750
S 28 13,200 13,200 0
= 6,600
= 6,600
307 GI12t0ld 13,200 13,200 0
= 6,600
o 6,600
06 2= 13,200 13,200 0
OZ=dl 28 13,200
S 6,600
= 6,600
Mol ?I & a~ot& &l 3,515,704 4,139,912 N624,208
= 1,355,332
= 2,160,372
AGHEEHIME (EX) 2,260,000 3,586,672 AN 1,326,672
= 1,130,000
o 1,130,000
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AL H2el

Mol ?1 & Aot

°

02 O
i

=

Q'I_l
e

B . M. CHe (5 NEAY . B2 Al OH HEE Hl =2+
401 AIEHIZ 2O 2,260,000 3,586,672 A 1,326,672
= 1,130,000
= 1,130,000
01 Al&HI 2,251,902 3,576,987 A 1,325,085
O#&A J|IE A0 [(1,000m) 397,574
= 198,787
= 198,787
O&QH 22 4& Aotd HHI(600m) 298,182
= 149,091
= 149,091
OAlel &2 Aot Al (1,000m) 399,010
= 199,505
= 199,505
O At 2=&1 AstEAHI(1,280m) 458,864
= 229,432
= 229,432
O&24d #= Aotd&HI(500m) 299,258
= 149,629
= 149,629
OHZE XA & H1(1,000m) 399,014
= 199,507
= 199,507
03 AI&E=20HdI 8,098 9,685 AN 1,587
20t EHIALY Al R 0HHI
2,249,352,000& * 0.36% 8,098
= 4,049
= 4,049
23 ActEEHIAS 450,664 0 450,664
= 225,332
= 225,332
401 AIEHIZ 2 450,664 0 450,664
= 225,332
= 225,332
01 Al&HI 447,419 0 447,419
O&AHA == A5t AHI(1,400m) 447,419
= 223,710
= 223,709
03 A= 01l 3,245 0 3,245
O&FH == ActAEH AERHHI
450,664,000 * 0.72% 3,245
= 1,622
= 1,623
A6t |- = 805,040 553,240 251,800
401 AIEHIZ 2 805,040 553,240 251,800
01 Al&HI 800,000 550,000 250,000
Odl A X1 Aot EHI(100m) 50,000




fA A4 2e|

HE: T HHHE Sl
&2l oA E AotE Zl (ctel: &
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
QUi s& A 5t& & HI(120m) 50,000
OZ2 Alth2 A5t &l (120m) 50,000
O wetm A& AUl (100m) 30,000
O¢E Z2 A5 EHI(150m) 60,000
OZHM &5 A& HHI(160m) 50,000
O=2% Oiolz A5k Al (500m) 70,000
OFA st A5t & HI(500m) 80,000
OFA WMAIS A5t Al (300m) 50,000
OFor =2 A5HAEHI(200m) 50,000
OFOoH MY A5 EHI(200m) 50,000
OAtel Tl 2at&EBI(100m) 60,000
OAtel Stdt= A6k & Hl(200m) 40,000
Oz Y AGHE A HI(300m) 50,000
O=2%d €& Aot&E8I(250m) 60,000
03 Al£ =204l 5,040 3,240 1,800
Oxotd RAE= AER2UH 5,040
Mol ?I&otd &bl 100,000 1,639,000 A 1,539,000
WA 22 L GAEA 100,000 100,000 0
401 A EHIZL 2048 100,000 100,000 0
01 Al&HI 100,000 100,000 0
OMoiRIERNF B+ L oStaE-
10,000,000& = 10K A 100,000
ot& & 7,686,800 1,658,500 6,028,300
= 4,460,000
= 1,423,000
= 1,803,800
ot EHl 2 |X2c 7,686,800 1,658,500 6,028,300
= 4,460,000
= 1,423,000
= 1,803,800
St ALY 1,600,000 0 1,600,000
= 960,000
& 640,000
401 Al&HI LS04I 1,600,000 0 1,600,000
= 960,000
= 640,000
01 Al&H| 1,594,300 0 1,594,300
OXFEX 7 ot=oHd L ZHIAY 1,594,300
= 956,600
= 637,700
03 Al R4l 5,700 0 5,700
OXEX T otEHE ¥ ZHIALY AIZ R4 5,700
= 3,400




A
I‘IiH:
C}—Ol:

e 2te| ot

S EH . S(BH) - NEAY - B2 Ao dd s HDE2
O &t o4
| < 2,300
XNeotdE X2l 166,000 98,000 68,000
= 83,000
o 83,000
401 Al&HIZL 20| 166,000 98,000 68,000
& 83,000
iy 83,000
01 Al&H| 164,810 97,118 67,692
OXNgatd S X2l 164,810
= 82,405
= 82,405
03 Al&S0HYI 1,190 882 308
OXYgold SX2el Al 2] 1,190
c 595
o 595
=2 M 2 AHY| 7,500 7,500 0
401 AIEHIZ 20| 7,500 7,500 0
01 Al&H| 7,500 7,500 0
Ox=28&M L HY| 500,000& = 1500 A 7,500
INEE IR S ESEl 80,000 120,000 AN 40,000
401 Al&EHIZL 20| 80,000 120,000 A 40,000
01 Al&H| 80,000 120,000 A40,000
Odt&E == HA 2,000,000& * 10JH 2~ 20,000
OXatd otarAb| 60,000
-1 &H(12ha) 18,000
-2 2(7ha) 10,500
- E (8ha) 12,000
-2 4 (13ha) 19,500
KNgold SATHE ALY 5,833,300 0 5,833,300
= 3,500,000
= 700,000
= 1,633,300
401 AIEHIZ 20| 5,833,300 0 5,833,300
= 3,500,000
== 700,000
= 1,633,300
01 Al&H| 5,818,720 0 5,818,720
OsdA SlesEXY 5,818,720
= 3,491,252
o= 698,250
= 1,629,218
03 Al&20Hb| 14,580 0 14,580
Os& & StESEEE A& 14,580
= 8,748




fA A4 2e|

M otdEl
o St AEY & X2 CEREED
_ _ _ AT
SA-EFH - SA(SAH) - MREAY - BES Off &F OH Ofl At ot Hws2
< 1,750
= 4,082
EZ 2 6,173,596 7,934,837 A1,761,241
& 480,000
< 6,021
= 5,687,575
=& sSxF 3,040,000 5,950,000 /2,910,000
S22 22 100,000 0 100,000
401 AI&HI L2y 100,000 0 100,000
01 Al£HI 100,000 0 100,000
O~ ==1¥ 100,000
FH~HY2t st Ld 700,000 1,000,000 A300,000
401 AIZHIL2HYI 700,000 1,000,000 A300,000
01 Al&HI 695,590 993,700 298,110
O=2g~-dg2 2= - 1¥ 695,590
-& Al & AIHI 2,660,000,000& * 2.65% 70,490
-£2 -2 625,100
03 AlZ=204bl 4,410 6,300 A1,890
O2Y~dg2t 2E& - IF AL 20
700,000,000& * 0.63% 4,410
TE~RE2 ZeEEE 500,000 0 500,000
401 AI&HI LRI 500,000 0 500,000
01 Al£HI 496,400 0 496,400
OXE~XH 2= - IH 496,400
-2 AIZ A bl 1,450,000,000& * 2.75% 39,875
-T2 & - IR 456,525
03 AI&=20HYI 3,600 0 3,600
OXE~ZH 2&= - IF AERUH
500,000,000& * 0.72% 3,600
FHetw Jts 1,240,000 800,000 440,000
401 Al&HIL2HYI 1,240,000 800,000 440,000
01 Al£Hl 1,235,536 794,960 440,576
O#AStw - 1,235,536
03 A2 204bl 4,464 5,040 AB76
O72w It A=
1,240,000,000& * 0.36% 4,464
W Jt4 500,000 0 500,000
401 Al&HI LRI 500,000 0 500,000
01 Al£HI 496,400 0 496,400
21 It 496,400




DA 2e
M E2 HEE
Pl 2L HEE (S &)
_ _ _ MEc
SN S(B) - NRAY - B2 Aro e =2
-2 AIE I 500,000,000& * 3.39% 16,950
= ! 479,450
03 A&Z20HYI 3,600 3,600
OE=u It AlER0UH
500,000,000& * 0.72% 3,600
SHEZR EEE ,200,000 200,000
o2 sHEEZERE ,000,000 1,000,000
401 AlZHIZ S0 ,000,000 1,000,000
01 AI&HI 993,700 993,700
Ozxel~2d2t sHEERz & - 23 993,700
- AE A I 1,100,000,000& * 2.75% 30,250
—C2& . IX 963,450
03 AM&=0HYI 6,300 6,300
O=el~dH2t sHEEZRE & - & AZ20
1,000,000,000& * 0.63% 6,300
AdE SOHEZ2SHELEY 200,000 200,000
401 Al HIZ S0 200,000 200,000
01 AI&HI 198,560 198,560
OUd sHEEZ & - ZXF 198,560
-2 AlZ Al 700,000,000 * 2.99% 20,930
—C2& . T 177,630
03 A& =0HH 1,440 1,440
OUA sHEZZ = - T ALY
200,000,000 * 0.72% 1,440
C2RA E=ME ,279,816 718,003
= 480,000
< 6,021
o 793,795
FIEEZ XA 520,000 520,000
& 260,000
= 260,000
401 Al HIZ S 520,000 520,000
& 260,000
= 260,000
01 AI&HI 516,724 516,724
OAMNEE S8 516,724
= 258,362
= 258,362
03 A&=0HYI 3,276 3,276
OAAMNEZ SIS AlER0HH
520,000,000 * 0.63% 3,276
= 1,638
= 1,638




A ASTHR I D
By ce SEA

Hel: E2RX BAAY (oA
SN FB - S2A(3) - MEAY - BES 0] & 08 e HRE2
ORI0I2 57 N ALY 240,000 240,000 0

2 120,000
= 120,000
401 Al&HI 2SO 240,000 240,000 0
2 120,000
= 120,000
01 Al&d 238,272 238,272 0
OFor =S3tn 0201257 Ha 238,272
2 119,136
z 119,136
03 Al&SCHYI 1,728 1,728 0
OHO £S5 KRI0I2S 7Y He A&
Hl 240,000,0002 * 0.72% 1,728
2 864
= 864
ORI0I® &S 28t CCTVA X 200,000 0 200,000
o 100,000
= 100,000
401 Al&H LSO 200,000 0 200,000
2 100,000
z 100,000
01 Al&d 198,560 0 198,560
O02I0I25 8 CCTV &% 198,560
2 99,280
= 99,280
03 Al&S0HHI 1,440 0 1,440
OORI0IZSE CCTV X Al& LI
200,000,0002 * 0.72% 1,440
2 720
z 720
2 U SHECR RAES 178,500 204,492 145,992
202 01l 2,700 2,592 108
01 2UHoil 2,700 2,592 108
OE2¢2™L = 2,700
203 YR 800 700 100
03 AIBERGRENY| 800 700 100
OF2AIM =& 800
206 2| 15,000 20,000 A5,000
01 M2l 15,000 20,000 A5,000
OF2LY P48 X 5,000
OFZ20H® AIZE Xt 10,000
401 AlZHI LSO 160,000 200,000 40,000
01 Al 160,000 200,000 A40,000




A ASTHR I D
By ce SEA

Sel: SRR ALY (crel @
- 5 o (5 o - e =
SN HA(S) - HRAY - BES Ol & o 0l A o1 Hns2

ozt ¥ sHEER 160,000
—Xhd = A 80,000
A2 80,000
o ¥ SHEZZ M=K E&3 100,000 50,000 50,000
401 Al EHIL 201 100,000 50,000 50,000
01 Al& 100,000 50,000 50,000
ORE 2 SHEC2 MESK 243 100,000
Zdl2tel & Zolititl 35,295 41,300 6,005
201 et 10,300 11,300 A 1,000
01 AtS 22l 4,000 5,000 A 1,000
OFHIE = 2,000
Osoitill & T2S3=7 S2044l
5,000 * 208 * 202 2,000
02 =234l 6,300 6,300 0
OO0l =2l S Xt 900
O2E & 22d S| 1,800
OJIHE || 900
ORciax) & H&Jl SXH 1,800
ODAAMNAI KX 900
206 MEH 24,995 30,000 A5,005
01 M=l 24,995 30,000 A5,005
OSHI| HLE 25128
2803 * 25kg * 2,285% 15,995
OLci=0ul 100& * 40,0000H 4,000
O==2&HIE FHBI(7E) 5,000
Nge 3o 22 6.021 6.021 0
S 6,021
101 el 24| 1,600 1,600 0
= 1,600
04 JIZHMIZ2XNSE =+ 1,600 1,600 0
ORE7Y EF IR
0,000& = 538 » 8 1,600
S 1,600
201 et 4,421 4,421 0
= 4,421
01 AtE22/H] 4,421 4,421 0
OXNge 3329 FX# 4,421
- HEX T 250,000& * 504 1,250
= 1,250
-G H =X & 230,000& * 24 460
= 460
-HETo BE 2,7




D ALETH 2 e 1t
P2 ExE
CE2RA BEAMY

_ _ _ Muo
SAN-ZH-SA(FA) - NFAY - BES Aol '@,‘;OH Hlw &2
[ < 2,711
ol 249/ Abe! 653,780 423,024 230,756
AFRB FOIAOAY 653,780 423,024 230,756
401 AlEHIL 2] 653,780 423,024 230,756
01 A& 650,000 420,000 230,000
OZE |24 570,000
~HE AY EY 22 4(800m) 100,000
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< 40,000
2 160,000
01 Al&H] 198,560 99, 100 99,460
O4E-2X2 C22TH 99,280
= 19,856
2 79,424
OO0lZOtS BH42 H| 99,280
= 19,856
2 79,424
03 Al& S Hl 1,440 900 540
OSHOISSEAY ALY
200,000,000 * 0.72% 1,440
= 288
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DIS=XSI2 A% U 2HAY 671,000 0 671,000
401 AEHI2L 20 88,000 0 83,000
01 Al&H| 88,000 0 83,000
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-~ A& 13,000
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402 BIAR2OIH 583,000 0 583,000
01 pIAXEEE 583,000 0 583,000
ongs M= 420,000
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=
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M M

01
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40
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SaclAlE QHHEXIE R
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M SENLAE

el
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sgIJIgAld 24

SN HB SR (BIH) - A - B S 0l &b S D=2
- cTo=m IO T - = e &= 0:”/‘l|_% WS
OsASE +HAN 242
110,000& » 2800 & 3,080
OEH M2E=2 AE2=2(1ZX) 10
02 =234l 540 1,680 A 1,140
OksE =& dII= 45,0003 * 123 540
206 M=H| 100 100 0
01 MW=t 100 100 0
23 M4 2,000& = 5004 100
SZIIBAIE B 406,995 360,936 46,059
401 A EHIL 204 406,995 360,936 46,059
01 Al&t| 405,915 360,000 45,915
OZX&Eel ¥ &I|8tEH SXNE= 50,000
Oogeratd B 500,000& * 602 30,000
oY% E= 2,500,000& = 12002 30,000
OBt ¥4 2 B4z =&
5,000,000& = 16902 80,000
Oag2FMN 1,500,000& * 30744 45,000
OZ 4 tatol o2 I & (290m) 60,000
OFA -k A== I E(500m) 60,000
OFot 2EEAFX EXHY (2EXI) 50,915
03 AIZ20i4l 1,080 936 144
OsgIIEtAl4d EHl AIZR0H 1,080
R EDEE] 5,515,000 5,361,000 154,000
= 3,506,000
& 438,000
i 1,571,000
402 It HE01H 5,515,000 5,361,000 154,000
= 3,506,000
L= 438,000
= 1,571,000
02 SIZ2CHEMAHH I 5,515,000 5,361,000 154,000
O3 XEel 5,515,000
-2 =X (164ha) 4,934,000
= 3,137,000
= 392,000
= 1,405,000
-2 & X+ (63ha) 581,000
= 369,000
o= 46,000
= 166,000
JNHSBHZ S LA 3,448,500 4,586,675 21,138,175
= 2,413,500
L= 517,500
i 517,500
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401 AIEHIZ 208 1,307,000 1,980,617 AB73,617

914,900
196,049
196,051

M HY oY

01 Al&H] 1,302,295 1,973,486 AB71,191

OZ2 A X F(3.0km) 356,744
249,720
53,512
53,512
O¢HE X7 (2.4km) 287,256
201,079
43,089
43,088
OFA 2BXIF(1.2km) 143,628
100,539
21,544
21,545
OF™ &XIF(1.5km) 179,535
125,675
26,930
26,930
O ot ZE2X 2 (1.0km) 119,690
83,783
17,953
17,954
OAtel AFEEXIF(1.8km) 215,442
150,810
32,316
32,316
03 ALY 4,705 7,131 N2,426

OJHASRBEZE T ALY A& 4,705
3,294
705
706

0.
M HY O] M HD OR M HY o8 M H oY

M HN OR

M H oY

M H oY

402 QI2tHE01M 2,141,500 2,606,058 A464,558

,498,600
321,451
321,449

—_

M H oY

02 CIZHCHEHAFHHI 2,141,500 2,606,058 A464,558
A S X7 (1.0km) 119,690

83,783
17,953
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OZzs HEXIF(1.0km) 119,690
83,783

17,954
17,953

OFA L2 X+ (1.0km) 119,690
83,783
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z
D.L
ol

M H O]

M HY o8

0F




fA A4 2e|
M SENLAE

Sl SIIPAlE T A

SN CR(EH) - NRAY - BES ]

22
J2

17,953
17,954
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Xl 7(2.0km) 239,380
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35,907
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OFA AaXI2(1.5kn) 179,535
125,674
26,930
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O=EA SEX(1.0kn) 119,690
83,783
17,954
17,953
OAF2l Ol = X (1.0km) 119,690
83,783
17,953
17,954
OAF2l 0I=2XI7(1.7kn) 203,473
142,431
30,521
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A X3 (1. 0km) 119,690
83,783
17,954
17,953
119,690
83,783
17,953
17,954
XI & K7 (1.0km) 119,690
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17,953
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SAN-Z3H-H

SI(BIH) - HEAY - BH2
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e
12

HH W

138,000
110,000
14,000
14,000

138,000

401 AIEHIZ 20

Mo

138,000
110,000
14,000
14,000

138,000

Ost bl =1 Al =20

138,000,000& * 0.72%

Mo

Mo

137,006

137,006

109,206
13,900
13,900

994

994
794
100
100

137,006

994

o

(0]

1,606,000
1,606,000

1,606,000

402 BI2H K2 01&

o

0

1,606,000
1,606,000

1,606,000

02 0I2HCHEH AL 23|

-~

0

1,606,000
1,606,000
1,606,000

1,606,000

A H o

6,219,000
4,353,580

559,626
1,305,794

7,352,491

A 1,133,491

Mot ooR

3,127,000
2,189,180
281,346
656,474

3,497,020

A370,020

402 QIZFXHE0|A

Moo

3,127,000
2,189,180
281,346
656,474

3,497,020

A370,020

02 QI2tCH

M ooR

3,127,000
3,127,000

2,189,180
281,346
656,474

3,497,020

A370,020

HJ N ooR

—y

, 742,000
,219,400
156,780
365,820

—y

2,465,471

AT23,471
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SA-E . S(E) - MEAY - BES 0l & o e SImE=ET
402 QI2HRHE01M 1,742,000 1,888,000 A 146,000
= 1,219,400
= 156,780
= 365,820
02 QI2HCHEH AL HI 1,742,000 1,888,000 A 146,000
Ooz2d% s&0l= S 1,742,000
& 1,219,400
& 156,780
= 365,820
HRACISEZLAIE (A=) 150,000 1,200,000 1,050,000
& 105,000
& 13,500
i 31,500
402 SI2H 201 150,000 1,200,000 1,050,000
= 105,000
L= 13,500
i 31,500
02 SI2+CHEH AHH I 150,000 1,200,000 21,050,000
Oa==X+ d20=sX4 150,000
= 105,000
L= 13,500
= 31,500
HAMSZEAL (A2) 1,200,000 150,000 1,050,000
= 840,000
= 108,000
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= 840,000
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olAgI (A& T 2te| 1) 350,814 276,055 74,759
101 el H] 350,814 276,055 74,759
01 2= 54,795 0 54,795
OHATH 2Dt Al2EA2 RS (27A12H) 54,795
02 JIEtAE == 6,850 0 6,850
Ou&dTe|Y HRAZBE AN2A2RSL(18
Al2H) 6,850
03 RIIHAZZ XN E = 289,169 276,055 13,114
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NEITIER
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-REsg=H 39,355& * 129 « 112¢ 52,894
e =] 59,033&  12% = 12¢& 8,501
-AXt==E 39,355& * 12% » 19 8,973
-HEZ I 300,000& * 129 * 23] 7,200
- MG AH| 50,000& * 128 * 12& 7,200
I E I Ry 1,654
DSsw(2=X-Lt)
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-tEd 8,760
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-Jl E 20,000 » 12 » 12& 2,880
2503 9,956,815& * 11 * 1/10 10,953
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-2 Xt 10,000& * 128 = 23l 240
- g = 40,0002 * 128 = 13 480
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-YetE 10,000& * 12% * 13l 120
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350,000& = 128 * 90/100 3,780
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2 et | 22,176 22,848
ArE 22|l 22,176 22,848
OJlZ2=&H| 12,096
OJlZ2=El 10,080
o4l 2,160 2,160
=S LHOYI 2,160 2,160
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